P,

% F F A UVR—-H?Z # No ®oE F =
((E) UVR-~HZ2 (90) OBz ULD—H1
(FEIE TI4AhEE SIS &b TE,
1. B fF f#H
AN 1 % 1. 25% 1. 5%
BIEE
T -t 90L | 90R | 90L | 90R | 90L |"90R
100 V Y \Y \ vV Y Y
101 V Y \
102 V vV v -
103 V v v -
104 V v v :
105 V v \Y v vV v \
106 V v v
107 V \ Y
108 V \ v e
109 V vV \Y
110 V v \ \ vV v vV
111V v \%
112 V v \Y%
1138 .V \ \
114 v v Y
115 ¥ \ \Y vV \ v \
[l RedE) +0. 5%LIH
2. BERRE ( FHEET =110V, NEFETVELID 1 0%D )
ARZEE A BRI A E T b, J
(1) 9 0 B EmsRE
AN 1% | ANKS 1. 25% | AA&E 1. 5%
1§ H
90L | 90R | 90L | 90R | 90L | 90R
L7 O = 7 S S S S S s

CRIERRE |

10s+10%

FD5-2-UV-1/2

N\

TEST-M0403-/ 0\



12145
sample-2


(2) 90 AJHRZE X 2B ERRISHE (B3%)

- S 19 X
wo ABE L% | (s 1 0 v, ReeE= 10
(NG R 1o L) T4 %~ 2 0 %DIZEZEIN A ERRY
90L 90R -7
%(E\UIE@ 5o
4 % S S
6 % S s
10 % S s
156 % s S
20 % s S
(8) 4 8 THEIE
R RERE]
B (& 5 10s+10%
3. v—4Fr2Ekg
R
= T kK ULD-H1 # No LU
1. HIEERTE (G&lF  TMER L. 7 AWEICTANE, )
L ) HOE | ¥ | m
R x & R | X Bt R | X Bt
1 0 vil o 1 vil o 0 \Y%
2 0 Vil o 2 Vil 5 5 \Y%
3 0 Vilo 3 vVilio]10 \Y%
4 0 Vil o 4 Vill15]15 \Y
5 0 Vil o0 5 vVil20]20 \Y
10] 0 Vil 0 |10 Vil24)24 Y%
15| 0 Vil 0 |15 v
20| 0 Vil 0 |20 \Y
24| 0 vil 0o |24 v
CHIERE)
(1) X=0, Ry »7 (1~24V) +10%
(2) R:O’ X ” 7
(8) R=0, X=0 0. 5VETF
(4) R=24, X=24 34V+10%
FD5-2-UV-2/2 Hgraa k= TEST—M0403—@


12145
sample-2


